L - 3R 0103-1

1.

2.

Y EN0)

— el - & 0103-1 -

ICETITEDEEZEZA RS,

(W)%ﬁyz%m@f?7%%%@éw

& H) By = 22 07T 71, FAREY 2 =3DL % y=

T%é.oi@,@,m&(&

3

T, V273D EDITB.

WO D 7T 7 HEXIE N,

i}
)%Eéﬁﬁﬁy:%mmﬁém

i (

__1 _2
(1) y=—1 2 y=22
Y Y
5 5
=5 5 -5 5
O x 0
5 -5
__3 __3
(4) y=-3 (5) y=—3a
Y Y
5 5
-5 5 -5 5
o x O

o

— 13th-note —

) ( 57 )
)
15
5 5
[ oz
=5
(&yzgw
Yy
5
__5 5
O
-5
(@yz—%x
Yy
5
__5 5
O




3.

3

PN

— el - & 0103-1 -

ICHTEELEEEZ LS,

) FDT T T7DOHBREEZRE .

W= F) 40757 (0,

7=, (2,

) BBHOT, yitz KBTS, %

)%Eé@?,$:2@&%y: b,

ﬁ#%,ﬁ&ﬁmy:%x&%#b

RO DTN EZEZ RSV,

Y

o

o

ot

Y
5
-5 5
T
-5
(2)
Yy
5
=5 P — 5
O P — T

— 13th-note —




D.

6.

WO DT T 7 X E N,

ﬂ)y:—%w
Yy
5
+5 5
O
—5
(@yZ—%w
Yy
5
=5 5
O

W OBE DTN EZE 2 I E 0,

Y

— el - & 0103-1 -

@)yZ%w
Yy
5
-5 5
O
=5
(@yz—%x
Y
5
-5 5
O
-5
Y
5
-5 — 5/
-9
(2)
Yy
5
-5 5
-5
(5)

— 13th-note —

_ 4
Yy
5
-5
O x
-5
(6) y=—%=
Yy
5
—5
O T
—5
Yy
5
5
O T X
—5
(3)
Yy
5
-5
[9) x
—5
(6)




L - 3R 0103-1

1.%?@

— el - & 0103-1 -

i (

ICETITEDEEZEZA RS,

(W)%ﬁyz%m@f?7%%%@éw

& H) By = 200771, FA%EY, e =30 xy=| 2

#
3
T%é.OiD,w,mk(& 2 )%Eéﬁﬁﬁy:%wmﬁém
T, 771 3EDL DTk 5.
D ROMED ST EEE RS,
_ 1 _2
(1) y=—7= 2 y=35=
Y Y
5 5
,/
\\ y
-5 T—— -5 ~ 5
O x v
,/
- -5
_ 3 __3
4) y=—w (5) y=—-5=
Yy Yy
« 5 5
N\ \
AN \
-5 h -5 5
O T O

— 13th-note —

)

y
15
5 5
, S
-5
(&yzgx
5
/
__5 5
/ I
—9
(@yz—%x
5
__5 5

ot




3.

3

— el - & 0103-1 -

1 N) Y TIEELEEZEZRS Y,

) FDT T T7DOHBREEZRE .
(frxJ5) fiorF 7% (0,

0

) BBHOT, yitz KBTS, %

= (2, 1 )%Eé@f‘,azz2@}:é‘y: 1 |cwz.

Eink, HBEREy = %x LAY InG.

RO DTN EZEZ RSV,

Y
5
__5 // 5//
(1) )
_1
Y=
Yy
5
5 5
O T
4) )
__1
Y 2

Y
5
-5 5
xr
-5
Yy = ! €
2
Yy
5
S W .
O P — T
-5
Yy = 1 €
4

— 13th-note —

Y
)
. 5
_5:
i
5
5
=5
3)
_ 3
vy=7
Yy
5
5
O
5
(6)
_ 3
Y 2



D.

6.

WO DT T 7 X E N,

ﬂ)y:—%m
Yy
5
NS 5
O T
—5
(@yZ—%x
Y
5
~——
= 5 \\ 5
O T~ T
T~

WO D FRXEEZ R E W,

Yy
5
__5 5
(1) )
y= 2z
3
Yy
5
,,5 5
(4) :
1
y=—=x

— el - & 0103-1 -

_ 1 _ 4
Yy Yy //
5 5 /
/l
— //
—5 — 5 -5 5
— x T
— /l
/
=5 /r TE
/
__3 __2
(5) y= 5T (6) y= 37
Y Y
5 5
\
\\
\\ q
__5 5 __5 N 5
O x O\ T
\\ N
\\
- \\ o
i g
Y )
5 5
-5 — 5/ —E T~ 5
— xr O T T
(2) (3)
Yy = 1$ Yy = lm
4 4
Yy Yy
5 5
=5 5 -5 5
T O T
(5) (6)
_ 2 __ 3.
Y 13th-ote — Yy = 2




